Seat No.: Enrolment No.:

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER -3 + EXAMINATION — WINTER 2016

Subject Code: 330601 Date: 19-11-2016
Subject Name: SURVEYING-1
Time: 10:30 AM To 01:00 PM Total Marks: 70

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Each question carry equal marks (14 marks)

Q.1 | (a) | Explain basic principles of surveying and list out different uses of survey. 07
Usl 1| A | ARATI ol Hood Reldl AHMA wal Aol [QQU GuAell | 09
ALl .

(b) | A rectangular plan 6cm x 5cm represents area of 75000 sq.m on field. | 07
Construct diagonal scale.

o [As 6 AH| x 5em QXA wllol 75000 sq.m [ARcllR ALEFe UR Y SR | 09
8. Wl HR2 50 B ofl AU 53

Q.2 | (a) | Define the terms. 1) Reduced Level ii) geodetic survey iii) Change point | 07
iv) Scale v) Tie line vi) Base line vii) Check line

Ysl R | A | vl UL ) WU GUAE Q) iUt vl 3) un wedl 09
¥) WA l) 218 L vi) WLULR WL vii) A5 VL.

(b) | Draw neat sketch of Dumpy Level and Describe temporary adjustment of level | 07
in short.

o | sl Qad ol 9 wsAdl €A U Aol gauHl AHRAYet gsHL | 09
Rl

OR

(b) | Draw neat sketch of Standard Metric Chain of 30m, and Describe method of | 07
Testing a chain.

ol |30 Ml 2les§ ARS Alsnell Yaus WU 1A wal AUisn ulatalsll ugld
aelal.

Q.3 | (a) | While measuring distance between two stations on site if there is small Pond in | 07
between line joining these two station, how you will measure distance? Give at
least two methods.

Ysl. 3 | [ AB2 UR A Rl A AR HIUA dud Ul aU A Rt Asdl | 09
A AR ollell dotel A B, AR <l A AR HIUN? A9HL 208
A UglQal .

(b) | The following bearings were observed in traversing with a compass, in area 07
where local attraction was there.
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Line. F.B. B.B.

AB 69°15 ¢ 249° 15°
BC 149° 15 ¢ 327°15
CD 225°30 ¢ 47° 00’
DE 218° 15 ¢ 39° 15°
EA 328° 45 ¢ 148° 15°

Find out the correct bearings and the included angles.

o | eUls vusNeL erladl QrdlRHl sUW dd olAoll AdAS AclHl | 09
LA, AU AL Al vRUAL M.
Line. F.B. B.B.
AB 69° 5° 249° 15°
BC 149° 15 © 327°15°
CD 225° 30 ¢ 47° 00’
DE 218°15 ¢ 39° 157
EA 328° 45 ¢ 148° 15°
OR
Q.3 | (a) | What is closing error in traverse? Explain graphical adjustment method of | 07
correcting it..
Usl. 3 | A | MEARWE Ul closing 3El AedA 9. Aal YurRdlel ouglsiat usld | 09
Ul
(b) | A 20 mt. Chain was found to be 6 cm.too short after chaining a distance of | 07
2000mt. It was tested again at the end of days work and found to be 11 cm
short after chaining a total distance of 5000mt. If the chain was correct before
the commencement of the work. Find the true distance.
ol |20 MT. A8l 2000mt wcdR HiRu Ul 6 cm. g5l Alal Holl edl. A | o9
(Zadtetl 24 56 5000 mt ol ¥R HRw ugdl sl udlawel sl 11
AL . sl e 1ol sdl.
Aiso st 23 sAL udal WA scdl. Al Ay BidR 0,
Q.4 | () | Draw a neat sketch of prismatic compass and label all parts, also state | 07
functions of each part.
ua. ¥ | A | [QosARs sutell a2 wlgdl €131 vl eloll Awll, Ual €S @OLoll | 09
sl esul..
(b) | The following consecutive readings were taken with a level and a 4m leveling | 07

staff on a continuously sloping ground at a common interval of 30m.

0.465 (on station A), 0.950, 1.250, 1.655, 2.255, 2.650, 2.850, 3.245, 3.580
(on station B).

First reading of 2.500 was taken on TBM. The R.L. of TBM was 25.00 m.
Rule out the page of level book and calculates the R.L of points by collimation
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method and gradient of line AB. Apply usual check.

o | Udcd a8l el wHlot UR Aad Wl 4m @Us dd 30l ol AR | 00
o{lAetl clifUot AclHL LAl Sl
0,465(22lel A UR)., 0,950, 1,250, 1,655, 2,255, 2,650, 2.850, 3,245, 3,580
(R22el B UR)

YUH didel TBM UR 2.500 AcllMl #AA. TBM oll WR.AA. U.00
le: 8. Addyys oll Ulell UR collimation Uald ad dxid (Glg «il
UR.AAA v UL AB oll 3La ofl dtaLdl 2. 2021 As 3.
OR

Q.4 | (a) | Explain Characteristics of Contours and Draw contours for (i)Hill (i) | 07
Valley(iii) steep slope ground (iv)gentle slope ground

sl ¥ | A | AHARUel clat@ls izl AHostal ua o{lActl HIZ UHACRUL €RL | 09
(1) (3t () Acll (3) au? alnaoll wHlot (¥) AHLA Aouel ot

(b) | The following readings were taken with dumpy level. 07
1.055,1.565,1.875,2.755,1.070,1.455,2.125,1.165,0.275,1.720,1.320,  2.505.
Level was shifted after 4th reading . Calculate the RLs of all points by rise and
fall method. Apply usual checks. RL of 1st point is 25mt.

o | o{lAoll clUot Actdt dd AclHl WAl &dll. 09
1.055,1.565,1.875,2.755,1.070,1.455,2.125,1.165,0.275,1.720,1.320,  2,505.
gal didet sal ugl Aacell woal dedaHl vl odl. Gdlr wua
Uslal Ugld gt ottt WeSooll RLo(l o1l 82, yaH WeSoesll RL
U.00Hl ®. 202 As 53

Q.5 | (a) | Explain the methods of orientation in plane table survey. 07
sl U | A | WQoel 2olcd ARl A RAeR et ofl gl UMt 07
(b) | State types of theodolite and describe different uses of Theodolite. 09

o | @RS\ eetl UsR seudl.ua [QAscgzal QA Guol aelcl. | 09

OR
Q.5 | (a) | Explain any two methods of Plane Table Survey. 07
sl W | A | Wet 2old Ude(l slefuRl A uglQll Al 09
(b) | Explain the procedure to measure horizontal angle with a theodolite. 07
o | @Az ad aldes vel ductlell ulsa aHesdl. 09
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